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Solve. If necessary, round answ%rs to the nearest hundredth. A
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7. Two ships leave a harbor together, traveling on courses that have an angle of 135° between them.
If they each travel 402 miles, how far apart are they?

b
g X R X" = 4oz + Yoz - 2 (902N 02)
l’“)' // 2

(J 1! «..l:;)
‘\\ / (2 D119 568
YN Yot A VAR T L
fo ™ j,u‘/
Az M2 198
—lu\ (o ,E 2_ AAY L)Jw S
8. From a point 435 feet from the base of a building, it is observed that the angle of elevation to

the top of the building is 24° and the angle of elevation to the top of the flagpole atop the
building is 27°. Find the height of the flagpole.
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0. A ship travels 70 km on a bearing of 27°. It then turns and travels on a bearing of 147° for 180
km. Find the distance between the end point and starting point.
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10. A 4 m flag pole is not standing up straight. There is a wire attached to the top of the pole and

anchored in the ground. The wire is 4.17 m long. Frewire makes-a 68%%gle“vﬁ%h theground.
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11.  In parallelogram ABCD, side DC is 16 inches, side BC is 10 inches and angle BCD is 100°. Find
the length of the diagonal BD.
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12.  Bianca and Jonathan are on opposite sides of a 200 foot wide canyon. They lay flat on their
tummies to use their binoculars to find the trail guide. Jonathan spots the trail guide at an
angle of depression of 50° while Bianca can see the trail guide at an angle of depression of 45°.
How far is Bianca from the trail guide?




